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Klucz
N—

Rozumienie ze stuchu

Zadanie 1. (5 pkt)
1.1.F 1.2.F 13.T 1.4.T 15.F

9 M1.1 Radio presenter: Hello and welcome to this edition of
Disaster! Today the natural disaster we are going to talk about was
one of the most tragic and best-known catastrophes — the eruption
of Vesuvius.

In the year A.D. 79, nearly 2000 years ago, the people of the busy
town of Pompeii hurried about their lives without thinking of
Vesuvius. Pompeii is twenty kilometres south-east of Naples, and it
is only ten kilometres from the great volcano. At that time, Pompeii
was a rich town of 20 000 people with a busy port and market. All
around the town were the beautiful homes of rich merchants and
their families.

Then, on 24th August, A.D. 79, everything changed for ever. In
the middle of the morning, the earth began to shake; cups fell off
tables, and holes appeared in the ground. People remembered
the disastrous earthquake that had hit the town seventeen years
before. Was this the beginning of another earthquake?

At midday, a great cloud of ash rose up out of Vesuvius, then

the top of the volcano was blown twenty kilometres into the air.
Vesuvius was erupting! A south-east wind quickly blew the cloud
of ash towards the town of Pompeii. People panicked and tried to
escape, but for many, it was too late. In two days, the town was
covered in four metres of ash and stones.

The small port of Herculaneum, which lies between Vesuvius and
the sea, met an even more violent end. After the first eruption of
Vesivius, many people had left Herculaneum. Those who remained
thought they were safe, because the winds did not take the ash and
smoke in their direction.

However, on 25th August, the day after the first eruption,
Herculaneum was suddenly covered by a violent river of hot ash
and mud. In a few hours, the town was buried under twenty metres
of hardened volcanic rock.

Vesuvius has erupted more than seventy times since A.D. 79. It
erupts approximately once every twenty-seven years. The last
eruption was in 1944.

(Adapted from Disaster! by Mary Mcintosh, Oxford Bookworms
Factfiles © Oxford University Press 1998)

Zadanie 2. (5 pkt)
21.D 22.E 23.B 2.4.F 2.5.A

9 M1.2 Speaker 1

I love Sherlock Holmes stories. But the one I’d like to tell you

about was not written by Sir Arthur Conan Doyle. It’s a strange and
frightening tale. For fifty years after Dr Watson’s death, a packet of
papers written by the doctor himself was hidden in a locked box.
The papers contained an extraordinary report of the case of Jack the
Ripper and the horrible murders in the East End of London in 1888.
The detective was Sherlock Holmes, but why was the report kept
hidden for so long?

Speaker 2

The book I’'ve been reading is about four children. They were
playing in a harbour, but had promised their mother that they
would not go into the sea and be home in time for tea. But they got
into a boat and began to drift out to sea in a thick fog. When the

PLGIIEIEE © Oxford University Press
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fog lifted, they thought they could turn round and sail back to the
harbour. But there was a terrible storm, and they were swept further
out into the cold North Sea.

Speaker 3

For many people Agatha Christie is associated with murder mystery
and her famous detectives, Hercules Poirot and Miss Marple. But
who was Agatha Christie? What was she like? Was her life quiet
and unexciting, or was it full of interest and adventure? Was there
mystery in her life, too? The book I’'m reading now gives answers to
these questions. It’s all about her life.

Speaker 4

I’ve been reading a collection of stories. One of the stories is about
a fly which is less than half the size of your finger nail. Try catching
a fly and looking at its head, its eyes, its legs. And now imagine
that this thing is about the size of a human being... These stories
offer horror in many shapes and forms, in worlds full of monsters
and evil spirits.

Speaker 5

You may think I’'m reading a horror story. On a cold day in 1821, a
man and his six children stood around a grave. They were burying

a wife and a mother. The children were all young, and within a

few years the two eldest were dead, too. The three sisters became
famous writers but they didn’t live to grow old nor enjoy their fame.
Only their father was left alone with his memories. It may sound like
a horror story, but it actually happened.

Zadanie 3. (5 pkt)
3.1.B 3.2.C 3.3.A 3.4.A 3.5.C

9 M1.3 Narrator: David Clarendon was sitting in his elegant
living room in his brand new house in Summertown, quietly reading
his newspaper, smiling to himself as he warmed his feet by the
open fire.

Life had been kind to David. He was in his early thirties yet looked
young, stylish and handsome. He was happily married, had a son
and a daughter, and he was hoping that his wife would give him a
third child.

His enjoyment of his newspaper was broken by the sound of his
daughter Fiona’s voice reminding him that he had to drive her

to her ballet class. Usually, his wife Sarah did this, but she had
crashed her car the previous week and it was still at the garage,
being repaired.

He also knew that before he left he must speak to the workmen
who were building the new conservatory that would extend the
dining room. The work was almost finished and they would be
leaving soon. Some money had gone missing from his study and
David was convinced that one of the three workmen had stolen it.
He was sure that he’d seen the tallest one go into the study the
previous morning. He would have to be careful how he asked the
question, as he didn’t want to accuse them without evidence.

Mrs Clarendon waited patiently for her husband. A tall, good-
looking woman, she had married young, very soon after her parents
had tragically died in the great Heathwick air crash. Now, ten years
and two children later, she knew that she was lucky — in every way
but one. She did not feel she really knew her husband. He seemed
to live in a different world from her, a world in which the future

and the past were certain. She was frightened by this, but didn’t
understand why.
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Rozumienie tekstu czytanego

Zadanie 4. (8 pkt)
41.F 42.E 43.H 4.4.G 45.1 4.6.D 4.7.C 4.8.A
Zadanie 5. (8 pkt)
51.H 52.C 53.A 54.1 55E 56.B 57.D 58F
Zadanie 6. (4 pkt)

6.1.D 6.2.C 6.3.D 6.4.B

Wypowiedz pisemna

Zadanie 7. (5 pkt)
Krétka forma uzytkowa

KRYTERIA OCENY*
Tresé Poprawnosé Maks. liczba
Inf.1 |Inf.2 |Inf.3 |Inf. 4 pkt
| Liczba pkt 0-1 | 0-1 | 0-1 | 0-1 0-1 5

SZCZEGOLOWE KRYTERIA OCENIANIA

Przy ocenie tego zadania bierze sie pod uwage gtéwnie
komunikatywno$¢, a w mniejszym stopniu ocenia sie poprawnosé
jezykowa.

e Przyznaje sie po 1 punkcie za kazda informacje zgodna z
poleceniem.

e Jezeli brak informacji lub btedy jezykowe uniemozliwiaja jej
zrozumienie, przyznaje sie 0 punktéw za te informacje.

e Jezeli tekst jest poprawny pod wzgledem jezykowym, tzn. nie
zawiera btedéw lub zawiera btedy stanowigce nie wiecej niz 25%
liczby wszystkich wyrazéw w tekscie, przyznaje sie 1 punkt za
poprawnos¢ jezykowa.

e Jezeli tekst zawiera btedy jezykowe (gramatyczne oraz leksykalne) i
ortograficzne stanowigce wiecej niz 25% liczby wszystkich wyrazow
w tekscie, przyznaje sie 0 punktéw za poprawnosc¢ jezykowa.

e Punkt za poprawnos¢ przyznaje sie, jesli tekst zawiera wiecej niz
potowe wymaganych informacji (tj. minimum 3 punkty za tresc).

Zadanie 8. (10 pkt)
Dtuzsza forma uzytkowa

KRYTERIA OCENY?
Tres¢ Forma | Bogactwo | Poprawnosé | Maks.
Inf.1 |Inf.2 |Inf.3 |Inf. 4 jezykowe | jezykowa | liczba
pkt
Liczba | 0-0,5 | 0-0,5 | 0-0,5 | 0-0,5 | 0-1-2 [ 0-1-2 0-1-2 10
pkt -1 -1 -1 -1

SZCZEGOLOWE KRYTERIA OCENIANIA

Przy ocenie tego zadania bierze sie pod uwage tresé, forme, bogactwo
jezykowe i poprawno$c¢ jezykowa.

Tres¢:

Przyznaje sie maksymalnie po 1 punkcie za kazdg informacje.

1 pkt - informacja zawiera wszystkie elementy okre$lone

w poleceniu,
0,5 pkt — informacja zawiera czeS¢ elementéw okreslonych
w poleceniu,
0 pkt — brak informacji lub btedy jezykowe uniemozliwiajg jej

zrozumienie.
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Forma:
2 pkt - wypowiedZ zgodna z wymagang forma,
— uktad tekstu sp6jny, logiczny,

— objeto$¢ pracy moze przekroczy¢ podane granice do
+ 100/0,

1pkt - wypowiedZ czeSciowo zgodna z wymagana forma,

— uktad tekstu czesciowo spéjny, logiczny,

— objetos¢ pracy moze przekroczy¢ podane granice do
+15%,
praca jest niezgodna z wymagang formga (niezaleznie
od stopnia realizacji pozostatych kryteriow),

0 pkt

— uktad tekstu niespéjny, chaotyczny,

— objetoS¢ pracy przekracza podane granice ponad + 15%.
Bogactwo jezykowe:
2 pkt — zr6znicowane struktury gramatyczne,

— urozmaicone stownictwo i frazeologia,

1 pkt - mato zréznicowane struktury gramatyczne,
— mato urozmaicone stownictwo i frazeologia,
0 pkt - niezr6znicowane struktury gramatyczne,

bardzo ubogie stownictwo i frazeologia,

— praca liczy mniej niz 60 stéw, czyli 50% wymaganego
limitu (niezaleznie od stopnia realizacji pozostatych
kryteriow),

zdajacy przekazat mniej niz polowe informacji, czyli
uzyskat mniej niz 2 punkty za tre$¢ (niezaleznie od
stopnia realizacji pozostatych kryteriéw).

Poprawnosc¢ jezykowa:

2 pkt - btedy jezykowe (gramatyczne i/lub leksykalne) i/lub
ortograficzne stanowigce od 0 do 15% liczby wszystkich
wyrazow,

1 pkt - btedy jezykowe (gramatyczne i/lub leksykalne) i/lub

ortograficzne stanowiace powyzej 15%, nie wiecej
jednak niz 25% liczby wszystkich wyrazéw,

0 pkt — btedy jezykowe (gramatyczne i/lub leksykalne) i/lub
ortograficzne stanowigce powyzej 25% liczby wyrazéw,

— praca liczy mniej niz 60 stéw, czyli 50% wymaganego
limitu (niezaleznie od stopnia realizacji pozostatych
kryteriow),

— zdajacy przekazat mniej niz polowe informacji, czyli
uzyskat mniej niz 2 punkty za tres¢ (niezaleznie od
stopnia realizacji pozostatych kryteriow).

Uwaga!
W obu zadaniach nie uwzglednia sie btedow stylistycznych
i interpunkcyjnych.

1Zrédto: Aneks do informatora maturalnego od maja 2007. Jezyk
angielski, oprac. przez CKE, Warszawa 2006

27rédto: Aneks do informatora maturalnego od maja 2007. Jezyk
angielski, oprac. przez CKE, Warszawa 2006
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